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Ender No
.

-> An Index No . isaspecializedy designed to measure
the change in one variable or in group of Variable
with respect to time.

-> Index No . measure the effect of change over a
Period of tri

-> It is useful in the study of Inflation &Deflation
-> It is useful in case of forecasting
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-> There are mainly 2 yor from which

we compare the data & find inder No.

Base yr : Po

current ye =
P
, or On

Formula = x10

Pencil
2020 = so

2010 = 20 = x100 =250

* > Index No
. is represented in terms of Percentage

( %)
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& Granja Salan

2000 = 100
2020 = 300

x100= X100 = 300%

100 X 300 % = 300 300-100 = 200

100 + 200%: 300

Base of Eden no is taken or 100

if not given .
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O Granja Sabin
.

2010
- x100 = 200%

30 + 100 % = 60

3 OX 200 % = 60
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inder No

Simple Weightest

Aggregative Relative Aggregative Relative
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① Simple Aggregative Method

= EP , X 100
EPo
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& Product 2000 2010 2020

A 10 12 18

BC S 6 8
20 18 25

35 36 SI

find inder No
. of yo 2020 with 2000 asBase

-x100 : X100
=MS.

find inden No of ye 2020 with 2010 as base.

= x100 = x100
= 11 .660
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& Product 2000 2010 2020

A 25 30 35

BC YS 60 80
100 l0S IIS

D 6 8 S

176 203 239

find inder No
. of yo 2020 with 2000 asBase

= x100- x100 : 135
.
79

find indenwoopro with,
base

.
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* Simple Relative Method

- EX100
N
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&
Product 2010 2020 Price Relative X100

A 10

B 20 X
2 ge & & x100 = 112 .S

8

D 12 IS 1S/12 x 100 = 12S
S87 .S

= El xlo) =75 = 146
.87

n
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&
Product 2010 2020

A 8 10

uB 12 76

2 18 24

D 30 us
S x100 : 15

S41 . 60

#0x00=i : 10
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*Weighted Aggregative Indes.

① laspeyres Index. No .- It is Based on Base yo Inden.

: EP. Qo x100
EPo Qu

② Passche's Index No. - It is Based on Current ye Enders

= EP
,
Q , X100

EPoQi
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* Fisher's Ideal Price Inder-
-> It is a GM of L & P

= LXP or& XOu

④ Dorbish Bowless Pric Indess-
-> It is a AM of L& P

= or& X100

2
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⑤ Mashall-Edgeworth Price Indes

Lip

= [P , Qo + EP , Q , X/00
EPoQo + EPoQi

= Ep, (Q0 +Q) X 100

EPo(Qo + Q1)
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L & p

& 2010 2020
Product Do Qo P, Q, EP

,QEPORO EP,Q.E

A 202302

B 80 8 604

C 6 S 10 Y
590710340384

L = &P, Qo x100= x0 = 83 .09
EPoQO

P = [PX100-300x100 = 88
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2010 2020
Product Do Qo P, Q, I

A 20 Y 1006

B 80s 1204

C Iso 2 2003
D 800 8 1600 12

Lio x100
:

EPoQO

p = &P , Q , x100
EPoQu
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2010 2020
Product Do Qu P, Q, PiQo PoQ PI Q , PoQ
A 8 Y 123

B 20 2 IS L

C18 Y 203
1S8 144 11198

1 =2, 00x100 = 109 .72 FI = 111
.

47S
↓ EPoQu
7 DB= 111 . 49
P: X100 = 113 .2

ME =

158I l
= III . IS 7

FI =



JATIN DEMBLA

2010 2020
Product Do Qo P, Q, PQu PoQu D, Q , PoQ,
A 20 S 404
B 50 10 100 8

C 90 u 125 3

D 100 8 ISO 6
&

29001760 2135 1350

LIN :

%
= 164 . 77 FINo

.

= ~ 164 .77x16S.SS : 16S. ISS

- 1760 & BIN.477 + 165.S = 165
. 16

.

7 2

PINo- = 165.5S MEIN = 2900 + 22651760 +1350
= 165 . 11
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Consumer Price Indes

New Salar = Old Salar X New Index No

old Indee No
.
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ISO in 2000 and inden no of&Ankitso 120 if in 2020 inden no is

what should be his salary.

OS = 1S (0z = 10) NS =? ) NI = 380

NS:NI
= 1So x 380

12 0

= 475
-
-
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O Paran salary in 2010 in SO1 and inden
No. Of that yo s ISO what Salary ,

should
he recise to maintains some standard of living-

if inden no is 490

os = soloF = 150 (NS = 490

=go = 1633
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② OM received salary of 8000 in 2005.

if currentden No u 700 what should be
-

his new solar.

= 8000X700 = S6000
Too--

⑤ Base Percentage is always takena
Cold Index No =100)
If not given



JATIN DEMBLA

⑧ Karan received salary of 5000 in 2000.

where inder
is 15,000 d ind

No was 167if in2020
solary -

should he received or what compensation
forunflation shouldh get--

OS = 5000 (01 =/s/NS = 1 , 000) NI = 878

-000X87-
NS = 26

,
127 .54

- 1S
,
000

11 , 227.
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⑧ Ankit salary in 2010 walt 8000. Per Moth

if his salary in 2020 is 12000 fer month.
-

& inden No is 300 What Confesation should
he received for last yr . to have some living standard
-

-X30
= 24000

#2000 x12 =

44, 000
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Test of Adequacy .

O Unit Test.

② Time Reversal Test.

&) Factor Reversal Test
.

④ Circular Test.
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① Unit Test

-> All Test should be Independ of unit

- All Formula of Ide No
. satify this test.

except
-> Sinfle (unweighted) Agg Endenden

.
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② Fine Reversal Test
.

-> This test is given by Fisher Idea No.

-> Pol X P
, o = Ex = 13

Po , = Iono Po =

Don
-> This method is not satisfied by LINO & PINo.

But satified by Fisher Inde No.



JATIN DEMBLA

↳ Factor Reversal Test.

- This test is also given by Fisher Edu No

- Po , XQo = Vo ,

Price X Qualit = Value.
-> This test is also satisfied by Fisher IN

* Fisher Indee No
.
is Ideal Inde No,

-bor it satisfied test # & I
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④ Circular Test

-> This test is extension ofTim Reversal Test

- Po , X Piz X 023XP3o =

- This test is not satified by any Enter No.

except
=
-> Simple GM of Price relative a weighted Agg-

Ender with fixedwight
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① The Cham Inde No .

Chan Indus link Relative of Current ye X ChaiEd of Previous yo
100

LR = P, X100
Do
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②
ye Price LP 2I

2000 so = 100 100

2005 60 = x100 = 120 120x00 = 120

106

2010 62 =2x100 = 103.3 103
.
3 x120 = 123
100

201S 6 S - x100 = 104 .858 104 .838x123.96 = 129.1
100
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*Quantity Index No.

① Simple Agg Quat= x100

② Simple Relative Quat : EX100
n

& Lasheyu = EQ , Po x100
E QoPo

① Passche's = EQ
,
PI

E Po Q ,

FI
,
DB & ME formula will also be sar
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Value Indige

EVn = EPnQu
EVo &Po Qu
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* Deflating time series
.

Deflated Value = Current Valur
Price Inden of current ye

or

=Currt Value = Currentvalue
↑
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Shifted Pris Index

= original Price Indes X100

Priceinduof thfree

*
When two Ide covering different base

. May
be combined into single series by splicing

200 2020

Some Base


